RRBEEHEAR (L) FRAF

fe BER R

BRSH

NEAETHE

T4 3T £ M (TTER D)

MILEME (RIFSERERAEL @ 360°)
B ARHLH

DPR

RATESM
PRIRIE R KA R
BIREARF R
TRIEEAE KRG FEHER
BREXRGEBILR
AHESHRANBRERK
MTTFd / MTBF
Bk

T ABBRRFE (typ.) RIFERX
T AR BIRARFE (typ.) BERERK
) HH A /)N BB PE SR
WHRKXBARR

[k BT 18 Al 55 2R

BB R AR 1 R B AR A

e BB RE R

BIRLLREER

EEBRERE

BIRLGIBREER

TUR

i BREETR
BRLLGEEE TR
REBEREETR
BIRLKEEE TR

MBS

HAE AT E

B & &

R/NFa

TR 7R ()
TN FRE (T E L)

IEC 68-2-6 #&x3) (Amax = 0.75mm, f =5 ... 2000 Hz)
IEC 68-2-27 i

HERHE

EN 55022 class B, Emission radiated (30... 230 MHz)
EN 55022 class B, Emission radiated (230...1000MHz)
EN 61000-4-2, ESD (contact discharge / air discharge)
EN 61000-4-3, Immission HF radiated (80... 1000 MHz)
EN 61000-4-4, Burst (on all lines)

EN 61000-4-5, Surge (lines to ground)

EN 61000-4-6, Immission HF conducted (0.15...80MHz)
EN 61000-4-8, Immission magnetic field (50Hz)

IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s)
IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar)

TEL:400-800-5927

% of meas. range
% of meas. range

bit

kHz
kHz
us

us
ppm/°K
years
VDC
mA
mA
kOhm
nF
kHz

mm?2

mm?2

mm?2

movements
°C

°C

9

9

dB(uV/m)
dB(uV/m)
kV

V/m

kV

kV

Vemk
A/m
GOhm
kV

46T : 173 1638 6953

MH-C

0...360
0.3
+0.5
0.1
12
0.1
®)
1.66
(800)
4600
25
668 / 668
5 (+10%)
(14)
9
10
0
0.1-1
yes
Wires (3x)
0.56 (AWG20)
Cable 3pole
0.56 (AWG20)
yes
Wires (6x)
0.56 (AWG20)
Cable 6pole
0.25 (AWG24)

360 (continuous)
IP68

no limitation

-40 ... +125

-40 ... +85

50

200

max. 30
max. 37
4/ 8
30

+1

+1

10

30

20

1

EET:180 1936 4947

MH-C2

Vert-X 37E - 5V / PMW

B1F3

Rl LA
ERAM
ARl AL
BHRARER

4 = general

S SR IP68
FETRFIT
IEmNE S %
REMHF®

ERENE

ER AT E R A

(RE, BR, A REHE.)
EREESAETENE S
RHBHE

R MH-C
YR 12bit
EMH-C2 EEE
R MH-C2

5 PR 4bit

REIR, BEFF MM EE TR
E/MYmTE (AJik)

CONIELEC

A company of the Siedle-Group

www.imcortech.net



RERBEEAR (LB FRAF

BSRE S

5 ¥Rt &4 3pole

7 A% %4 5pole / 6pole
9 Ik PR B LS Tk L4

BSERE #E
4 1Rt B B4 3pole

bk o33 6 ik B B4 6pole
IEM 88 E CWHR A1 9 Wik KB AR K
IE [ B CCWH] 12
TR, EMBE CWH %3 B K
JUR, E A% E CCWH %4 01 Ti% 10cm
TR, XRXESHME TS 03 3% 30cm
05 #5 50cm
HHES 99 Wik HHKE
PWM Standard 4
BYHKE
02 #5/ 1.0m
06 A% 3.0m
GRS 10 W3k 5.0m
5VDC Standard 2 00 Wik BHKE
VertX 3 7 E 4 7 3 6 2 4 1 0 5
HREA
36 A B REA360°
xxA %03 to 35; Declaration in 10° steps
QT LR AR BRI A
7 MH-C
AR A
37E1 Wik A IR L% size 13 ; Bt 1T 4l Mtype 1
37E2 Wik MR R Esize 13 ; BT HAGtype 2
37E4 FR A AR R Esize 13 ; WtEHITHLI type 4
37E9 Wik BT BHRBERTIG
MH C MH C2
1T I B M40 4T WL A X
T #I9h= X
T HI B 48/ S48 X
#0Ox% ... y% Ub (within 5% ... 95% Ub) X
PR AE SRR R X
FFRINEETTL (max. 2)
PR AR & X
HEHREBSEA SEES0° to 360° (BHWI)
HREATRE (B4

BHEAMERJARE (FNLR)
BE¥ A BMCW/CCW TR E / Al 4wfe (MRS R ER M)
REIRARE AR (BN LR

TEL:400-800-5927 46T : 173 1638 6953

EET:180 1936 4947

e el sioreiaabelel

|="
=
|c

Vert X 37E 5V PWM
1T

wiE (REESER)

CONIELEC

A company of the Siedle-Group

www.imcortech.net



|

RERBEFEAR (LB FRAF

*
| :

Vert X 37E4 xxxX XXX 5xx
Vert X 37E4 xxXx XXX 7Xx
B #(incl.)
Finbaumass LR 1x BEXRF
WOF|<1F19 pOSit iDﬂ ,I 6 2x%$§ﬁﬁl%ﬁ$i_iM5x12
M5 —t THRE(Z) M BRI
- 21 3 BA R
- o o SEREEFR
' ~ 1 1 16
o gy ~ 2
=5 i ] r
LO [ | o0}
2l U=l 1 <
S| o % | s =
| 7 HAn O \
e v
™ HUNIN
j 4 H
|| #5Tiefe 5 12
g /b 19, 4 ol
Vert X 37E4 xxx XXX 4xx
Vert X 37E4 xxx XXX 6xx
‘ Be #(incl.)
Finbaumass ¢ il i, s Ix BREXF
y : ‘ it 1 - i ox H SR E B4 M5x12
S 13 working posmlomh 1,6 m
N 21 13 TAEMLE(Z) F REMERATALNG
_ o Ll B K fo 48
- SERERER
o I Hi <16 -
> w | U
<10 [N
& o] [oF] e :
- T H=Ircr— 1 «
- 3 =0 s =
S ™ _STHA \
~ T Y~
(25| ]
] o T L
i
Y ‘#1 L__
@5 Tiefe b 12
¢ 20D . B 24 -

A company of the Siedle-Group

TEL:400-800-5927 48T : 173 1638 6953 EET:180 1936 4947 www.imcortech.net



RRBETEHFEAR (LB FRA

Finbaumass ~ [rdz
W1 working position 1,6
M5 ==
EREEEil 77
|77 | 1 =] 9y
o CHE 1
s TH 1
|1 NN
= 4]
" || @5 Tiefe 5 12 168
. 826 19,4
. Finbaumass [ #dz .
.;SW 10_‘_ working position | 1 g
-l 4|
Q — - o8
f'\/ L] — 11 HE=Ss
) ©- o1 <CHAR F?
2 S\ 3l \ 2| S,
/ | ‘ a Y _L
| @ ) e 1 Ul [
N 2| ‘
W/ o Bigil 1
| sy n
\m/ L=t 1
#5 Tiefe 5 g2 10,2
26 - 2, ”

TEL:400-800-5927

4FT : 173 1638 695

3

EET:180 1936 4947

|

)

-~
—-—_
r

c

Vert X 37E1 xxx xxx 5xx
Vert X 37E1 xxx XXX 7xx

B (incl.)

1x BERF
2x B & IR 4 M5x12

THEMNEZ) M #ERTHE
RRAFHE
SERERFR

Vert X 37E1 xxx Xxx 4xx
Vert X 37E1 xxx Xxx 6xx

B 4 (incl.)
Ix BERT
2x G S E IR 4 M5x12

THEMEZ) M BMEHRATHG
BRKR AV
SERERR

CONIELEC

A company of the Siedle-Group

www.imcortech.net



RRBEEHEAR (L) FRAF

Vert X 37E2 xxx xxx 5xx
Vert X 37E2 xxx Xxx 7xx
EL#(incl.
Einbaumass *Z *tdz " 1X@(E;g)jz
‘A’Orkiﬁg pOSitiOﬂ 9 2x T ER L E R 42M5x12
M T TEfL B (Z) T BT
- -l BAATH
[ g SEREKER
A ~HT ©
I (i
S T [
= B S R =
[_\J I__ ~ N
s | 0| B LJ‘_Tf 1= (=2 Iy g A
o A i |
) T
Y Sy Nyl
= 10,5
||| #5Tiefe 5 12 | | 15,6
926 o i
Vert X 37E2 xxx Xxx 4xx
Vert X 37E2 xxX XXX 6xx
B4 (incl.)
: 1Ix BERXRF
Einbaumass _Z s o 2x % FSHL % 8 4 M5x 12
3x M3 workin osition B
—’1— I F Ly B —wr——= THeE(2) M BT AL
= |3 Bk fo P4
_ 1 T% SEREER
! — =
o HI- g
s T
L0 oo r “ T “ Jl \
e L e
o ] Q =AY
sl | o LJ‘,Tf e O 1T 1%
IS it
™M JTH
l’ =Y | Nl
. = 10,5
| 5 Tiefe b 12 NN
926 24
A company of the Siedle-Group

TEL:400-800-5927 48T : 173 1638 6953 EET:180 1936 4947 www.imcortech.net



RRBIFHEAR (L) FRAF

Vert-X 37E4
TERER
ITHEMEZ)
= MH-C 3.85mm
—+I MH-C redundant 4.35mm
I~
A
BMERATH SR K R
dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert-X 37E1
RERFE
TEMEZ)
MH-C 4.95mm
MH-C redundant 5.45mm
N
o
+ ¥
P ; BMERAT AR A R P40
)
dx +0.25mm
dy +0.25mm
dz +0.5mm

A company of the Siedle-Group

TEL:400-800-5927 48T : 173 1638 6953 EET:180 1936 4947 www.imcortech.net



RERBEFEAR (LB FRAF

Vert-X 37E2

REER

THEEEZ)

MH-C 6.45mm

MH-C redundant 5.95mm
| RTINS K iR
- dx +0.25mm
| dy +0.25mm

dz +0.5mm

Vert X 37E

)

35
5

i

u

1,

CONIELEC

A company of the Siedle-Group

TEL:400-800-5927 48T : 173 1638 6953 EET:180 1936 4947 www.imcortech.net



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7



